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[> HEFD 15cm

94.2 +3.14 + 2 = 15(cm)




3. 19 ¥ 0 A9 UFE FoAL,

>
> =g 1884cm

(25)=(5t2 T )x2 x 3.14
=3%x2x3.14 = 18.84(cm)




> ®EH: 18.84cm
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A 50] 8em?l Y& Hho =z g WAyt vHl o] Yol S FSHA| 2.
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> HEHD 25.12cm?

(A1E°l 8em <l HE

S|

o] yol) =(4><4><3.14)><%

= 25.12( cm?)




6. the T Aol ol ol FL Pk,

(1) (2)

>
[> HE T 1158.66.cm?

(1) 12 x 12 x 3.14 = 452.16( cm?)
(2) 15 x 15 x 3.14 = 706.5( cm?)
452.16 + 706.5 = 1158.66( cm?)
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2549 Yol

(1% 4m31 9] Wol)+(HAzHg 2] Ho))

2% 2x3.14+4x 14
12.56 + 56 = 68.56( m?)
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125.6 cm

ul

30%x3.14 4+ 10x 3.14 = 94.2 4+ 31.4 = 125.6( cm)
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> HEH 50.24cm
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(290 9%) + (L 9o 4%)
12x3.14 +4x3.14

= 37.68 + 12.56 = 50.24( cm)
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50.24 cm

3(cm)

10 x 3.14 = 31.4( cm)

6% 3.14 = 18.84( cm)

o
2%)
REES

31.4 + 18.84 = 50.24( cm)
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12.

Hiz]1 59 4

2201 A= " mAY7t?
» L

> HEehl 653.12m

=

26 X 2% 3.14 x 4 = 653.12(m)




13. 7k U 7 9o Holof A& oA L.

7} >

@ 100.48¢cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? @ 175.84cm?

~&B

(7t ¥<] Wol)= 9 x 9 x 3.14 = 254.34( cm?)
(4 ¥9] Yol)=5x5x3.14 = 78.5( cm?)
whebA = Ao HWolof A=

254.34 — 78.5 = 175.84( cm?) YUt}




14. the TN AAT HE0] HolE T,
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T--16ecm--

» E cm?

> HE T 55.04cm?

B

CELEEERD)

—(3AZB Y Wol)-(99] W)

= (16 x 16) — (8 X 8 x 3.14) = 256 — 200.96
= 55.04(cm?)




15. the @4 A3

~--10cm- -

(A 2] Zol)+ (A Bl 5om

= (5+10+5)+

=20+15.7
= 35.7(cm)
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16. The (9 U3t 1 2] Holo] T TS,

(1) (2)

[ 2
[> ®Eh: 492.98 cm?

] ] : 6x6x3.14 = 113.04( cm?)
11 11x11x3.14 = 379.94( cm?)

113.04 + 379.94 = 492.98( cm?)
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6cm

7Y,

N4

7.74.cm?
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YF 1 13x2x3.14 = 81.64( cm)
d9] ylo] 1 13 x 13 x 3.14 = 530.66( cm?)
81.64 + 530.66 = 612.3




19. g % 99 Wolo] g L.

| 2
> ®ehl 204.1cm?

4X4x314+7%x7x3.14
= 50.24 + 153.86 = 204.1( cm?)




20. thg 99| o7t 50.24em? A o, MASS T840,

>
> HE: 4 cm

HH2)E

[ ]x[ ]x314=5024
[ x| ]=50.24+3.14
Dx[’ =16
[]=4(cm)




